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l. BIOS6rw;Trrrt
(a) ffir+wErTs-qrwggtz

O) ifo+.r<C{-qrwgcfo€c
(c) dfuortfc-qr€Ta$S
(d) rqtEaiit6itTfi

elos{6f,rt
(a) RAM if
(b) RoM i[
(c) CPU ii
(d) +Yrfit{

a*kw.etqqmfrrioqd*tr
(a) CMOS

(b) SYSTEM.INI

(c) BOOT.INI

(d) RAM
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BIOS resides in
(a) RAM

o) RoM
(c) CPU

(d) Cache Mernory

Where is hard disk information stored ?

(a) CMOS

O) SYSTEM.INI

(c) BOOT.INI
(d) RAM

l. Full form of BIOS

(a) Beginners Input-Output Set

(b) Basic InputOutput Set

(c) Basic Input-Output Source

(d) None ofthe above

2.

3. 3.

P.T.O.
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4. q.6 tru{ fqfiii. fit'r i-s Fi tq{ +. csrs

n ftfun 61-61 +-eerar t
(a) S€k<r
O) -iq-qd-€fu;rt

(c) Il-qfus{

(d) F{rfl&<r

5. RESTORE oqr< +r q'qtl EfdI t
(a) BACKUP 6qr< qi +rq ii dt

Es .-{rt ,r{ tsw i srre fidr
o''{+n

O) ffis+i,rtstEtit6ifil€tt+''(cr
(c) rre d ii ffie +t'd sed +i

kksr+r
(d) Bqtffi{t+iTfi

6. frq ii t ga q1 @ffi (m srrf,
o.dflq t{qqlrtfeqr qnr t r
(a) Winrar

O) WinziP

(c) (a)a@) td
(d) Bq+niitfrniTfi

't. *UU4Lo1q€cptt
(a) ffgs'
(b) Ercsdq
(c) fls*+.ffi'rr
(d) 3q{t'n{S

8. Er6 +H fiil{+ sq+'r }'r*s sr{d
al {sr +} q'c t6qr w emr t cq Ffrs

etqorqtqrq-sdrt r

(a) fusd€
o) fuH{
(c) ffgw'.
(d) sq+'nq$

2074

Printers in which printing head and

paper is forced together to form letter

is called
(a) Impact printer
(b) Non-imPact Pnnter
(c) Page Printers
(d) Line printers

RESTORE command is used to

(a) Restore files from disks made

using the BACKUP command

(b) Restore files which are deleted

(c) Restore files which are deleted

recently

(d) None ofthe above

Which of the following utility tool is

used for file comPression ?

(a) Winrar

(b) Winzip

(c) Both (a) & (b)

(d) None ofthe above

Which of the following is a system

tool ?

(a) Scandisk
(b) Drive space

(c) Disk defragments
(d) All above

A utility that can be used to minimize

the number of fragnented files and

enhance the sPeed

(a) Disk space

(b) Dofi:ag

(c) Scandisk

(d) All above

a)
4.

5.

6.

7.

8.
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s. {6 gfrA Q ..6 g.{u + 1H +t +s
*.t-et
(a)

(b) Fsw-ts}-'r+{r

(") ffiqq
(d) sqttniitdtTfi

frq{ t +t+ qt \.+.qdErfi€t z

(a) *+'kdT
O) =i're{
(c) +sts€
(d) Br+ft{,t

r'+ q*qrrrs ++c frq if t fu{ srd'

6| rrrqrrrd. ;1fiurntz
(a) qqetfo{zqsrqr{{{tTslq
(b) Ezt+ Bqdrr + +{r sqfl

foer4=*
(c) kwFs*.ri-+or+
(d) $fTdrcr tric + <r+fiH d

grRro+.m

Nerofo{[6rt6ttig*qrt r
(a) \'+cr+rs++q
(b) wfiodmqtffi
(") +S{Etr{iw++r
(d) sc+niit+{Tfi

13. ftrqfrtu6 +cd n t +h d mN it
{qR+fdqsq+{ +tqdtz
(a) fe-{+siq{
(b) +i-qflwqe

(c) qn-qr dfiro
(d) gctff{"fr

11.

12.

(3) IT2Ol

9. Which utility checks the hard drive
for errors ?

(a) Scandisk

(b) Disk defragrnents

(c) Winzip

(d) None ofthe above

11.

Whid of the following is an

antivirus ?

(a) Quickheal

@) Norton

(c) Kaspersky

(d) All above

An antivirus package usually does

not perform following task :

(a) Protect the computer system

from virus

(b) Prctect computer system during

internet access

(c) Diskdefrap.entation

(d) Secure online payment

transaction

Nero is which type of software ?

(a) Antivirus package

O) File compression utility

(c) CD writing software

(d) None of the above

Which of the following cable is used

for communication in LAN ?

(a) Twisted pair

O) Co-axial

(c) Fiber optics

(d) All above

10.

12.

13.

P.T.O.
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14. qs' 6qfr+{la +e{*. tqflsr n+{
ffiqqtrfrt#+frqo'Gt
(a) LAN
(b) wAN
(c) MAN
(d) 3q{t'ftnt*tT6i

ls. frq tt * +t-+ S q;n ffi dffiS {fi
tr
(a) fi'r
(b) i
(c) ERI

(d) kE

16. d*+tdt
(a) qrqro]ffis{6

6y ft+ritarqr
(") irttc
(d) te{S'iir

tu. rrrorSn+rt
(a) qrc*3'zrtqtr*+re

O) srreqr<qtnHsrf,
(c) $lqazEq*+fl<r
(d) sr+ffiift+r=rfi

lB. frq ii +{ fr q6. ffi{ Fs-iTW Tfr

tt
(a) {ite{
&) +.4
(c) {.fr.sq.
(d) lsE

19. Ei fir.T-firq r-eN * *q {-{R tE t6{
Fsqr{{ 61 3qd,rfo.qr qldrtz
(a) t.r
(b) kq
(c) fi-sq
(d) EqirffiCt+ttTfi

2014

Which of the following communication

network cao be used to connect

thmugh worldwide area ?

(a) LAN
(b) wAN
(c) MAN
(d) None of the above

Which of the following is not a

network topologY ?

(a) Ring
(b) Tree
(c) Bus

(d) Switch

Protocol is

(a) Group of [anguages

(b) Set of ru.les

(c) Internet

(d) Network device

Full form ofFTP
(a) Forward TYPe Protocol

O) File Transfer Protocol

(c) File TYPe Protocol

(d) None ofthe above

Which of the following is not a

networking devic.e ?

G) Router

(b) GatewaY

(c) UPs
(d) Switch

Which device can be used to
communicate between two different
LAN ?

(a) Hub

(b) Bridge
(c) Modem
(d) None of the above

(4)

14.

15.

16.

t7.

18.

19.
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20. frq ii i rtqsrqsdtl rpsi{t r
(a) 193.305.1.0

(b) t92.167.1
(c) 192.167 .1.1

(d) 192.167.3.5.1

21. MACCiq
tt
(a) 48

(b) 32
(c) 16

(d) 8

frz+l qrffsI+dI

22.

23.

ftIr€ A irc+ + fuq fss'€ +'{#
qr++qr*ntl
(a) 255.0.0.0
(b) 2ss.2s5.0.0
(c) 2ss.2s5.255.0
(d) 2ss.2s5.2ss.255

f<q jt t+t<dcrd rcP/IPdamtfl{
+fitz
(a) tvn
(b) qqt}rn
(c) fin-$o-d

(d) ?isq]i

lrq il i +t+ qr ffifi'r fis€c, \r+'

ta+# g{rqtfa,r f{€q tz
(a) f{. qNr
(b) Hszooos*{
(c) {+dH+{
(d) sq{tnr.fr

25. lzq6 3mliq fusc di eI 6l{ 6{iII

tz
(a) rrsftqffisnflr{,'r{r
(b) Rrsq r"i g{slT ftiqlfTd{+.r<r

i"i fidz qd+nc *i {suit sI
\rd{y6{6{-{r

(d) 3qn-n{"t

24.

(s) IT2Ol

Which of the following is a valid IP

address ?

(a) 193.30s.1.0

G) 1e2.r67.1
(c) 192.16'7.r.1
(d) t92 .t67 .3 .s .1

size of MAC address is

48

32

l6
8

21. The
bit.
(a)

(b)
(c)

(d)

22.

)1

24.

25.

What is the default network mask for

class A network ?

(a) 255.0.0.0
(b) 2ss.2ss.0.0
(c) 25s.255.255.o
(d) zss.2ss.2ss.2s5

Which of the following laYer is not

present in TCP/IP Protocol ?

(a) Session

(b) APPlication
(c) Physical
(d) Transport

Which of the following oPerating

systern is a networft operating system ?

(a) Windows NT

O) Windows 200O server

G) Novel network
(d) All above

Network operating system p€rforms

which task ?

(a) Provide routing service

(b) Monitor the system and security

(c) Provide acc€ss to remote

application and resources

(d) All of the above

P.T,O.
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26. fu<i-E ffi smfu foeq { ke-Er
5wqcfrqiit+taqrtz
(a) qsffi€e{
(b) +s
(c) .[+raw
(d) gs+ft{:{t

2i. tcrt efiurqt
(a) Eqt{irrrs-S'df6qto
(b) r*i}s'aTd?r++,{
(c) E+}rfnr+'qfr*rc#dE,
(d) E+{fvmoe*n+*r**.

28. {-,rd+s ii frq + t 4lr + Eftqrqfukdtr
(a) vr+n t scqtftr si * qr+ ffifr

{hqr
(b) sr+n t qcr si { qri qr*

{id-n
(c) sc+rr t vr+n +i + qri sI-S

{E-n
(d) sc+ft$ff

M1s Q q${qrq }
(a) aMz{+t{+vtrfu{zq
(b) *iqi-€{qHffi{-dr
(c) +qrqqftnvnfu€c
(d) Bq+niin+tTfi

luvrelcr ffi ar<r qrqinq-d ql+fiq t r
(a) {rq€IFIIIFFR
(b) qq,gq. erR.*., srr{ir {rGFR

(c) ffiqf{-cfrA
(d) sqt)'fl{*

29.

30.

(6) 2074

Which of the following is a built-in
user group of windows operating
system ?

(a) Administrator

O) Guest

(c) Power user

(d) All above

ICT means
(a) Information Control Technique
(b) Integrated Channel Transfer
(c) Information Communication

Technique
(d) Information Communication

Transfer

Which of the following services are
the part of e-Govemance ?

(a) Government to Customer
Service

(b) Government to Business
Service

(c) Govemment to Government
Service

(d) All ofthe above

MIS means
(a) Management Information

System
(b) Managernent lnformation

Server
(c) Member Information System
(d) None of the above

Who sponsored NMEICT progranme ?

(a) Covernment of Rajasthan

O) MHRD, Gor.t. of India

(c) Delhi University
(d) All ofthe above

26.

27.

28.

29.

30.
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(i,

(iii)

(iv)

ceq sw qWi piry + C H; q,f?#rar s+rH I

Question No. 1 is compulsory, answer any ftve questiorc from the remaining'

cd6 wa # srfr qrif 6l frqqr q6 slq dd fi?fu( t

Solve all pars ofa question consecutively together.

rdonwoltdywlilNDtdfuv t

Start each question on afresh Page.

sH qrqr,ait it ota{ at+ ++ ffi t qnq\ q'Fn a7 qq * r

Only English version is valid in case of dffirence in both the languages'

l. (i) {.qq.3ntq{ qrtr
What is EMIS ?

(ii) qrdflc i sfiq wI s{tr+ * ?

What do you mean by comPression ?

(iii) qr{r{q G q+srq(q t*Gil t c[q q-dF} t

Give the names of virus and anti-virus packages.

(iv) {d{(rtiWHrt?
What is User and Group ?

(lr) sn$.S.*. +rrtt fttqrTq({r*c fur+t eflc Hr slrsd t r
Wlat do you understand by National Mission on Education through ICT ? (2x5)

(i) qErwrtr vs*,s-sridrrrae+ t

What is booting ? Explain its tl,pes.

(ii) sc.cs. sifm.q dr At+ 5{c'€ fqqr qnr t ? r{fidflc + q<t oi frfigs t

How to install MS-OfEce ? Write steps of installation.

(7)

(6x2)

P.T.O.
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3. (D gfrzlslgworiEqrrf,kw$M-tvrqdr{sfl{a I

Explain the defragmentation of hard disk using defrag'

(ii) t6{+. ds tr +.{+ + fuq GrFso-+t s{flst r

Explain scandisk for checking disk spaces. (6x2)

4. (i) {qru+1frfiriislfuRRttrrrEt I

Explain methods of communioation in detail'

liiy rfui+to wr t : * t.fr.r:rr$.fr *Hd m-qd 6i kwn t qssr+n t

What is protocol ? Explain TCP/IP protocol model in detail' $x2\

5. f{q si q{flta :

Explain the following :

(i) qroq'iiSqSrq;R

Network and its tYPe

(ii) star qEi Rins zi+d+
Star and Ring toPologY

(iii) +6-srqqdR'dt
Backup and Restore (af)

6. (i) snoisfilrlsitdCffiq+itd<Rtqcflr+i t

Explain the file sharing and resource sharing in detail'

(ii) W'H{ si'qtEq fuec+1c+a'Amqd +f qqsr{i r

Explain installation stePs of network windows operating system (6x2)

7. (i) t-,I.{t+'qqi t-,r{{+{ft qrs q<{qryr{E t

Exptain the difference between e-govemanc€ and e-govemment'

(iD ont+.*. +frfir<dnqdnfrrito)rrrsw+ t

Explain the various advantages and disadvantages ofICT' (6x2)

a. frqq{{ifuunffifrfuq:
Write short notes on following :

(i) dffiSrniqs$uon
Topology and is tYPe

(ii) qrr*roiftrwi;qe
Fiber optics cable

(iii) qr$.+.+

rcr (a*)


